
September 11, 2012

2.2 Limits Involving Infinity
Day 1

lim  f(x) = ∞
x →a

lim  f(x) = a
x →∞
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x = -1 x = 3

y = 1

The graph of f(x) is below  lim   f(x) = 
 x

Ex 1)

lim   f(x) =
x    -

lim  f(x) =
x    -1-

lim    f(x)  =
x    -1+

lim   f(x)  = 
x    -1

lim    f(x)  =
x    3-

lim   f(x) =
x    3+
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Vertical Asymptotes How are they found?

Rational Function is in the form:

Ex 2)  Find the vertical asymptotes.     x+2
x2 - 5x + 4
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Horizontal Asymptotes / End Behavior

x + 2

x2 + 2x + 7
f(x) =

2x2 + 7
3x2 - 5x + 2

f(x) =

x3 + 2x + 1
x - 2

f(x) =
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IMPORTANT:  lim     sin x  =
x    0     x


